Soustraction (A)

Calculez la différence.

443 — 2 =

D97 — 9 =

309 — 3 =

68 — 3 =
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Soustraction Solutions (A)

Calculez la différence.

443 —2 = 441

D97 —9 = H&8

309 — 3 = 300

(68 — 3 = 765
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Soustraction (B)

Calculez la différence.

270 — 8 =

(23 —9 =

(18 —4 =

630 — 4 =
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Soustraction Solutions (B)

Calculez la différence.

270 — 8 = 262

(23—9 =714

(18—4 =714

630 —4 = 0632
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Soustraction (C)

Calculez la différence.

O34 — 5 =

823 — 2 =

480 — 1 =

003 — 6 =
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Soustraction Solutions (C)

Calculez la différence.

O34 —5 =579

323 —2 = 321

485 — 7 = 478

D03 — 06 = HO7
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Soustraction (D)

Calculez la différence.

248 — 1 =

(D2 — 6 =

04l — 2 =

84 — 17 =
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Soustraction Solutions (D)

Calculez la différence.

248 — 1 = 247

(52— 06 = 7406

041 —2 = 539

84 —7 =307
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Soustraction (E)

Calculez la différence.

157 — 6 =

(38 —9 =

300 — 0 =

308 — 0 =
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Soustraction Solutions (E)

Calculez la différence.

157 —6 = 151

(38 —9 = 729

300 — o = 301

308 — 06 = 352
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Soustraction (F)

Calculez la différence.

220 — 6 =

132 — 9 =

400 — 2 =

391 — o =
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Soustraction Solutions (F)

Calculez la différence.

220 — 6 = 220

432 —9 = 423

400 — 2 = 398

391 — 5 = 386
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Soustraction (G)

Calculez la différence.

290 — 6 =

(5 —4 =

128 — 1 =

210 — 1 =
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Soustraction Solutions (G)

Calculez la différence.

290 — 6 = 284

((o—4 =771

128 =1 =127

210 —1 =214
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Soustraction (H)

Calculez la différence.

099 — 3 =

(D7 —9 =

003 — 1 =

309 — 6 =
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Soustraction Solutions (H)

Calculez la différence.

099 — 3 = 596

(07 —9 = 748

003 — 1 = 502

309 — 6 = 303
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Soustraction (I)

Calculez la différence.

030 — 6 =

135 — 7 =

01 —5 =

196 — 7 =
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Soustraction Solutions (I)

Calculez la différence.

o0 — 6 = 524

135 —7 = 128

701 —5 = 0696

196 — 7 = 189
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Soustraction (J)

Calculez la différence.

O3 — 1 =

208 — 8 =

O30 — 0 =

324 — 1 =
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Soustraction Solutions (J)

Calculez la différence.

O88 — 1 = 987

208 — 8 = 200

O30 —5H = H75

324 —1 = 323
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